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General Instructions to Candidates: 

Maximum : 80 scores 
Time : 2½ Hours 

Cool off time : 15 minutes 

• There is a 'Cool off time' of 15 minutes in addition to the writing time. 

• Use the 'Cool off time' to get familiar with questions and to plan your answers, 

• Read the instructions carefully 

• Read questions carefully before answering 

• Calculations, figures and graphs should be shown in the answer sheet itself. 

• Malayalam version of the questions is also provided. 

• Give equations wherever necessary. 

• Electronic devices except non-programmable calculators are not allowed in the examination hall. 
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Answer all questions from 1 to 8. 
Each carries 1 score. (8 x 1 = 8) 

1. Who is the founding father of Modem 
Economics? 

a)J MKeynes 

c) Adam Smith 

b) Alfred Marshall 

d) David Ricardo 

2. A market economy is 

a) Profit motivated economy 

b) Private ownership economy 

c) Capitalist economy 

d) all 
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1 Q3tmtllil 8 (ll6)(a tmnn1§3i!i n(peJJ C:.!1.lllll6111lu8cSQao 
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3. Which is a Stock Variable ? 

a) Income b) Capital 

c) Consumption d) Investment 

4. When the price of the good rises the total 
expenditure to purchase that good also 
rises, the value of elasticity is 

a) greater than 1 b) less than 1 

c) equal to 1 d) zero 

5. Tea & Coffee are ; 

a) Complementary goods 

b) Capital goods 

c) Substitute goods 

d) none 

Write the term for the following 

6. The functional relationship between 
inputs and output in the production : 

7. Gross investment - depreciation = ....... . 

8. The cost of next best alternative forgone: 

9. Match the following (4x ½ =2) 

Factors of Production Remmunerations 

Land Profit 

Labour Interest 

Capital Wage 

Organization Rent 

Answer all questions from Qn 10 to 16. 
Each carries 2 scores. (7 x 2 = 14) 

10. What is a market demand schedule? 
Prepare a market demand schedule ? 

p 1 2 3 4 5 6 

Dl(P) 9 8 7 6 5 4 

D2(P) 24 20 18 16 14 12 
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3. 

4. 

5. 

6. 

7. 

8. 

9. 

nQl (TO) J6TTIU i:@ J,:06) .!2.l@o ? 

nQ)) (llfoJJJ:Jmo 6T117) !JJeJWmo 

("{1)7) §)n..1/Jfs:J(f)o (/J)7) m71JtBi2in..lo 

6l@3 OJ mf <Ol 3 OJ1 m 6 ~ OJ1 e..i OJ <fH3l.ll 00 3 Cl ffilJC/0 

tma<OllmJCQll @.!2.1eJOJWl.003rrn (0)6c0, OJCOfilll006 
i:cruJC/0 ~eJJCT1.J(O)lc9,(0)(!));J6lS ~~eJJo 

nQ)) 1- «JU cBJJSJ«JJ«JD 6T117) 1- «J8 cBJJO(llu 

(fl)]) 1- mJ «»Jeflo (11)]) nJJ§.ljo 

.!2.IJWW;Jo c9,J~1w6o 

nQ)} nJJ(ocBJ (lj("fl)u«JJJd36J® 

6fl17J t1;e.1wm (lj("fl)@Jd36Jrm 

("fl)]J tn..1«»7rru.n:;n..1m (ll("fl)«»Jd36Jrm 

(11)7) @(ll6J(!)):J(mJ!Jg/ 

~(UOn.JJBmmlroo m1i:OJ<@6UB~;Jo @mo~ 

rrnOJ6o <Olmle..13~ WCO!;ln.J@~JW 6TlJCTU)~J6ITT : 

6l~JCOTO)o mlc:c00:tn.10 - c:«»roJ'inmo = ............. . 

<Olj~l.00@&13 n{JlQOJ6o mgi ~6lQJCTD16lfTR 8.!l.Je.i 

OJJ6ffi" ................................. . 

(4 X 1/2 = ]j 

~ei'nJJBffi ne!SIB>6U'Blffl lnJ<Olln.0eio 

rsi~l e.JJBo 
-

@<OlJWlroo n.Je.Jl(@ 

QiJe.JWmo c0,ien 

CTUoneJJSmo OJJScS, 

10 !Aa<Olam 16 ru6lca <Ol<mlaa~ nQlWJ i:mJBJ6UBlfflc06lao 

~<OlUICi16l!A\Pa(O)acSi. 63Jl:@Jon1nnao 2 mri:aJm ru'l<Olo 

(7 X 2 = J4) 

10. n(JlCTOJJ6ITT ca!llcruJ~ i:.!2.1Jf3m n.131ca? @@6 
cai:cruJ~ l:.!2.1Jf3m n.131ca (O)WJo:ioo;ica? 

p 1 2 3 4 5 

Dl(P) 9 8 7 6 5 

D2(P) 24 20 18 16 14 

6 

4 

12 

I 
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11. Complete the chart given. 

Macro economic sectors of an economy 

( ? 1 
) ? ? ? 

12. Distinguish between positive and 
normative economics? 

13. State and explain any two determinants 
of price elasticity of demand? 

14. Calculate value added? 

Value of 
Value of 

Value 
Firms intermediate 

output 
goods 

Added 

A 250 100 
~ .. --

B 400 250 

C 700 550 

D 900 700 
Total 

15. Classify the statement into two branches 
of Economics. 

Statement 1 : A consumer's purchase of 
the good depends on his income. 

Statement 2: RBI increased repo and 
reverse repo rates. 

16. Define GDP deflator? When GDP 
deflator of a nation is calculted as 85% 
what can you say about current year 
price level in relation to the base year 
price level of the nation? 

Question from 17 - 23. Answer any Six 
Questions. Each carries 3 scores. (6 x 3 = 18) 

1 7. A production possibility curve (PPC) of 
Alappuzha district is given below. 

a) What is production 
possibility curve? 

b) Reason for the shape of 
givenPPC 

c) Show the change in PPC 
of Alappuzha due to the 
flood recently happened 
there. 

HSE II 

Good 2 P 

11. .!2.IJro§" n1irom1.a@lc06lJ,B,. 

( ffi)ffil(ID nJJ C1Jml.JJ<ID16lel IZ26lle.l.£Mf0 ) 

cb dS d7 c ! ) 
12. i:nJJm>lQ1nf i:mJm@2ig1of m>JmJm1ce, <@Jmfla» 

6013 cm a»~, e.ia ~ CllJ (O)JJC1U6013 cm n(j) 6l rn» ~Jo? 

13. 18.!2.IJBmml@CTR gQeJJ<ID(tl)110ia»COJ36lS @6ma 
mlc36TDJCOJa neisca6013@~ rulru@1c06l6a? 

14. 2iie..1Jo .ai37iE.!l.l<DCOTOJ .aJ61TJ6-:a 

Firms ~mn,mrn 2J8Jo 
llllilcrmJ<aJ~ !:!leiJo .ei2§l 

t}iJCfiJ(I) iaaeiJo ~ -4116 Cllll)j mi' 

A 250 100 
B 400 250 

C 700 550 
D 900 700 

·----- - . 
Total 

~ --- -~ ---· 
15. a»an1@1c06la an l nJcro (O)JOJ mca@~ m>JmJm1ca 

<@Jm}'La»ml@CTR <@J6ll~~eJ<06> ooo a»l@lc06l3ca. 

/nJ<IDa»Jrum 1 : 6l@a ~nJCBJMJnl' ClJJ6ll'Baan 
rumra»arul@CTR cma~nl' cmaCOJJ~a@s ru@3gJm@«m» 
~ L<@COJ7-9:11@7c06lacma. 

fnJ(ID(O)JClJm 2 : ~m.6TlJ1.6ln(j). 0118cCIJ, 
nli:ruwcruu o118cCIJ m7@c06l6acm rurorwlrcll,9:J;i. 

16. GDP nu1nlll8@Q07@m m7mru.!l.l1c06laa? 6l<aa 
@J~ml@CTR GDP nu1n0i::~QID 85% <@(0)!2JJm 
!2JJ@6mialroo ~ @JggJml@CTR msrcl' rumn2:1@m 
@nJJa»6 rule.im1e.iruJ@@m ,e,3nli cmaslnumm 
ru mn2:1@ m ru1 e .. uD> ;ii;n1nJ1 cm J@cm ~ o 6l .!2.1 tor a»6 
m16013cmoo n(f)rn»6 nJnCOJaruJcm m>JoJlc06l6o. ? 

17 gacmam 23 OJ6)@ a»anl§a~ C.!2.IJ~6ll'B~1am 
ngl6la»IB»1eiao tma,Ou l:.!2.IJBi6ll'BOOc06lu ~CIJT0)@6)Q\9acmaa. 
6lJ~@)cmlrmao 3 m.fll:<G:)/5 (1i°Vi)l~ (6 x 3 = 18) 

17. ({llgJe.Jd'.:16\9 @:;ll(;l,JCOJl@e..i g)eJoJJBm (TI)JWJ(O)J(l]l.Bio 

Good 1 

(PPC) Clll(l1)7@7.oo6ffilJ. 

PT 

nq; J nq; (T{J) :J6rrl g7 21d:JJB m 
(T/)JWJ«JJJ rd{cfho 

6T117) @rml~Jfflf} PPC WJ6J5 

«J@d3JJ((J)](O) J 6) 5 rB, J(a6/7) 6) !J m;;°? 

(T/)7) «JTcJSJ0076JS «J@e..td:JJ':PW7e..tJ6TBJ(Q) 

6J (1J gjff} 6J d:f Jd96Jo rB, J(a617Jo nffJ (T(J) J 
£JJ{l£JJ617J" ~«mn..JJBm (T/)JWJ«» 

(1J(r£Jioo7«J8 ~6TBJrBiJrm1w~ 
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18. Draw the circular flow of income and 
expenditure in a simle economy? 

19. With an increase in income of a 
consumer the demand for some goods 
decreases. In this situation. 

a) Mention the type of goods whose 
demand decreases. 

b) Distinguish between the demand 
curves of normal goods and luxu,y goods. 

20. a) Find AP & MP oflabour 

b) \Vrite their equations? 

I ~ I ~ I ,~ I :, I :. I .: 
5 

48 

21. Two types of demand changes are given. 
Identify the changes and explain the 
reasons for such changes ? 

18. 6l@3 e.i~lrm numJro-r OJJOJml.O(l))l6leJ rura6!,;1Jmo 
6l.!2.le.JnJ nQ)cmlru(l))3@s !l.!J(,iB,l,a Ln.JOJJnDo 
rura-4:13 ce,J6TTili:66lJ.a? 

19. 6l@J ruJ<9<llll(l))J6lS OJ@J!,;IJffio (1J(Oill)i-4:IC:r{jJ(IO 
.!2.11 eJ nu )(l) m 6lffi ~ a 6) s C: .!2.1 J(3 m O t0, 3 0 6lll1lJl 3 

n4)ialmo 

20. 

L 

TP 

n@) (g.JliJBmo ,B,J()6TUJW (]J(TV
0

@Jd36J@ refJfOJJ@@o 

.!ll@d36) J ,B, ~ J6TT) ~ 

6T11 l) (Tl)J(J)J@6TTJ .!i.l@tEoJ J d7J flJ o «J@ (U)o6T1J ra .!i.l@tEoJ J c0J 

§}Jo «»m7«Jd i.!!.lJ.rJm ())Lc0J00]6JEJ (lfj((J)jJmJo n{f)®I? 

"4)} AP WJo MP WJo c0,J6TTIJt0:i 

6Tlll) anaruw36ls rmiLrmruJce,J6lmuil n(fll.9J(7J)J8? 

0 

0 

21. IX.!2.IJ13m«m»16leJ @6IBJ«»@o 21JQ6013~J6TTI «»cml 

caloo3cm@. «naOJ6l«ll «»l@l-4:1016TllllllJ 21JQ6013o6 

OOJ~ i:8iJ@6ffi6UB6l~ rulru@loo3ca.? 
~-----------------

Figure 1 

Price 

Demand 

22. Distinguish between final goods and 
intermediate goods with suitable 
examples. 

23. The Central economic problems of an 
economy arised due to unlimited wants 
of people and scarce resources. Explain 
the classification of major economic 
problems arise in this case ? 

Questions from 24 - 27. Answer any three 
questions. Each carries 4 scores. (3 x 4 = 12) 

24. Calculate 

a) GDPmp 

c) GNPfc 

Items 

NDPmp 

Depreciation 
Net indirect tax 
Net factor income 
from abroad 

HSE II 

b) GNPmp 

d)NNPfc 

Rs. in crores 

2800 
250 
175 

100 

Figure 2 

Price 

Demand 

22. @13JnD<a6ffi m.lrJllrmo cmaool~ .!l.l@86l;ica~;io 

«naOO@J~ .!l.lro86168~Jo n.JJ(O'<lJ<TU6lr{jS6oo;ica. ? 

23. ggm6UB~66l5 (lllq)OJ(fc)J60Tl<f0 n.J@lwl<D.Jl~JOO@Jo 
nQ)cmJam rulrrn.J6UBG'US6l3 8~COe.irsJru6o ~~rm3 
6) cB, J 6IB) 6m (Tl) (TI.J (O)~ OJJ OJ ml.O CO) 7 am ®a 5 7 ml.OJ m 
(TlJ Jffil «m» 7 ca. l n.1 U3 m 6013 u5 @6IBJ c0, J cm@. cma «m» 
@o ln.JU3ffi6TIB6l~ OJ<O(J)'lca,@l-4:13 ruluo/3~Ji:66l68 ? 

24 0a<Olam 21 ru6)ra <Olnnl§a~ c.!!.IJBJ6UB§ll«m 
n(J36l<Ol&leiao 0~nny ~.!!.IJBi6UB!me6ly ~ron»@6l019a<Olaa. 
63mi1Jcmlnnao 4 mrcca.JIO ru'l<Olo ( 3 x 4 = 12) 

24. i:0iJ6TDai:0i a) GDPmp 

c) GNPfc 

b) GNPmp 

d)NNPfc 

~m6UBo6 Rs. in crores 

NDPmp 2800 
c: (0) @m m o 250 
anaon1c:@Jc00:i mlce,:irml 175 
ruli::8(fc)«m»a mlcm;i~ 
«I@Qne.158 ru@J21Jffio 

100 
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25. Prepare a note on the history of the 
emergence of Macro Economic analysis? 

26. Describe "Returns to scale" 

27. Yedhu's income is rupees 80. He 
purchases good 1 and good 2 at rupees 
20/- and 40/- respectively. 

a) Prepare the budget set of yedhu 

b) Draw his budget line 

c) Select the bundles on his budget line 

d) Show the change in his budget line 
when his income increases to rupees 
120/-

Questions from 28-30. Answer any two 
questions. Each carries 5 scores. (2 x 5 = IO) 

28. The farmers in Kasargode district 
are using Endosulphan to increase 
agricultural production. It helps to raise 
GDP. But the heavy use of this pesticides 
makes a harmful effects on health and 
welfare of the people in Kasargode. This 
is an important limitation of GDP as a 
measure of welfare. 

a) Explain the economic term to denote 
this limitation of GDP as a measure of 
welfare? 

b) Give another example for such 
a harmful effects created through 
production. 

c) Explain other limitations of GDP as a 
measure of welfare 

29. Suppose the demand function of a 
consumer is d(p) = 30 - 2P for any price 
less than or equal to 15. 

HSEII 

a) Assuming the prices 0, 3, 5, 7, 7, 9, 11, 
13 and 15, prepare a demand schedule 
and curve? 

2 s . rru..oi e.i mJ J mJ m 1 a C@J mJ"t cm m1@Cll1 «31© rulm 
rnrum16lCTll .!2l@1Lcm6lm c0,301J 63@3 aaolrrta 
@®JOJ<06l3c0J.? 

26. c:«nJcmm3mJ@l-¥Ja~ Ln.JcmJJ(ll)6UBufl ru7<@8gJ 
003c0,, 

27. m,r33rul6lCTll OJ@3gJmo 80 @2n.J(ll)J6ffi. <ma(ll)JUO 
(ll)l0Jlc0,go 20 @2n.J(D)3o 40 @Jn.J(D)3o rule.i(ll)a~ 
<a6IBa m>Jc.u m 6UBu6 ruJ6UBa ITT) a. 
nQJ-) (!))(iJ(l]]6)rrg 6Tllf!J{l 6JrTV{l ((J)~:Jp:J,E6)JrBJ. 

6T117) ((J7a (!)):Jp}J 6)5 6T}J f!J{l (g(a61J (1J (a(!))°,E6) J ,B, 

rrv7J ((Jla(!)):J@J6JS 6Tllf!J{l rgra61Jw7E.JW@ 
6Tll 6m7E.JJ rBi (IO 6J((J)(a 6J6f(J!WSJ rE6J J rBi. 

ruf/) mraJ~:Jmo 120 ra;a1w:;w7 ra;s7w:;«Jd 6Tllf!Jrt 
{g(i)6J.l(!))7E.JJ~ ~:J{;o rBi:J6TTJ7rE6JJ,B, n 

2e 0a<lJlarn 30 ru6lra <lJlnnlaau c:.AJJBJ6llll~larn 
nQ!6l<lJl1Bilei30 ramf 13.AJJBl6llllit6c96lu tim<a6l0\!'13<lJl3c9i, 
6'lJIJ(a)(TT)1(TT)dQ 5 ffiflJiSiJ(O nfl<lJlo (2 X 5 = ] 0) 

2a. aJm>roc:cnJruJ m7~!D516le.J c0,ron2:1c0,ro c0,Jron2:11 
ll:c0JJ«mn.JJBffio OJt01llilc£1l003(TT)cmlmJ(D)l 
n(J)flilGt(U}Jm>«o nOJcm @n.Jel(ll)Jcn7-¥Ja 6>c&:>6IB1@1 
ooaana. i!«» GDP ruro1IDlc£1loo3ruJcm mJnDJ 
(D)lc06lannamf. n(J)(TT):>«m §!2!!> c0, 1smJua1ml(D)a6>s 
amrucmQJ(ll) ~n.JC:lll)J(l)o c0,Jm)(Oel(l)J6)§ ~m6013 
~a6>s ig,emgmleiao «Jlg~CaJ(Q) c0,J~l0l0lle.J30 
m-a@;i(l])@9JIW ln.JCDlJ)neJJCOl6UB~:>6flf §:!6IBJ<06ll 
IQll§J~«». amcma 6>aJ6IBa cm6>an §12!!> ln.JC@umo 
GDP c:c0i2;1gmlma~ g)mB61TU.)0J(ll)1 Ln.JOJroml 
ooa(TT)cmlam n.Jralglcml @6IBJc0,a(TT)a. 

n(f)J fll'!J 111@7!J7(U)76J(J}J (ll)J.JJ1k11tB6JJrm rrvJ 
((}J((Jf(J)7rBi trl@)fliJ(1))6J((Jf{JJ mJm(iJ7rE6JJrBi ? 

6Tl!/J i«Jdi11JBmm7eJJ6JS f6fBJW7aJflffl §!JM@o 
[11l(U)7r,vnw7tB6JJo [111((//JJneJJ((J)(Uf{J)]mJo !J6J{IJ(i)J 
@BJ,.fJfa6ll)o 1110(1))J,B,.? 

rrv7J GDP ~t91l:l!J((Jf{JJ]mJ(l))J~ JJJmB6llW!JJ(!))7 
l n.J mro((Jf(J) 7rE6JJ rm((J)7mJ fJffl !Jr/' 111(iJ7fJ7((1)7rBJ (IO 
(l]](l](i)1rB6JJ8J. 

29. 6J(iJJ irJ(gfi:JrB((J):J(1]76JrTg ~.JJl:JBm aJ(OIJJo 
d(p) -= 30 - 2P n(J)rTTJ:J6TTJ~ 

n(J)J o, .; s, T, 9, 11, 1-; 1s n(J)rm1 m7E.JrBi6Jp} 
(UfqS]mJ[J:;m~JrE6J7 ~JJ..IJBm i1137rBiWJo rucrBimJo 
(l](q(!))",E6) J ,B,. 
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b) What is the value of slope of the 
demand curve obtained? 

c) Calculate the price elasticity of 
demand at price rupees 5/-? 

30. Described three stages of the law of 
variable proportions using a diagram? 

Questions from 31-33. Answer any two 
questions. Each carries 8 scores. (2 x 8 = 16) 

31. Diagrammatically explain budget line, 
indifference curve and the concept of 
'optimal choice' of the consumer. 

32. There are three methods to measure the 
GDP of a nation. 

a) Complete the methods and identities 
to calculate GDP? 

Product Method .• ,. ....... 1••······ .. ···--·· .. ··--····--·· 
.................. , .......... R+W+In +P 
Expenditure Method 

b) Explain any two methods 

33. A cost function of firm is given 

Q 0 1 2 3 4 5 6 7 8 

TC 20 30 38 44 49 53 59 67 80 

HSEII 

a) Calculate TFC, TVC, AFC, AVC, 
SAC and SMC of the.firm? 

b) Draw TFC, TVC and TC curves of 
the firm on the same set. of axis? 

c) Explain the relations between SAC 
and SMC curves? 

nv7J s ra;n..1 m721WJflffJ~rr1:;rm ~.!llJBm«JTOJ76Jr@ m721 
§!221:JOVU({JJ},B,((J) ,B,J6TTJJ,B, ? 

30. .!21llCOH~6n.JIX<D.lJffil41 ru71XBl3cB.,Jm6n.JJ(O)COTIJl76l~ 
2i~rrn3 neJ§6086l~ rull@aeJmo 6l.!2.l(W6a. 

31 1.aa«»am 33 ru6lra a»nn7:mli! c:.!l.lJ'fl60Bilam 
nQ36la»l9i7eiao ranu C:.!l.lJB16l1Blfflc06lu @mTll)@6l!.al9aa»a,e,. 
63JC:@Jrrn7nnao 8 mf c:,e,J!B rula»o (2 x 8 = 16) 

31. 611JIDJQV @6le.JOO, mlrruocn(O)Jilll8o g)nJC:rD.a«»Jrul 
@~ CTl)o<m6eD((l)JOJCTU1l n(!)rrnlru .!!..lll<mClllllll@~ 
CTl)nOJ('Q)CllllllJ(lJ"3 rnlru@1003c0,_ 

32. 63@3 @JIDJJClllllll@~ GDP 8J6Tn3illJCTO 21JCTD3 
21J(O(f)6lll3§36llf 

n(J)) d9JJ6TTJ J (lJ Jm J ~ IJ Jro(f) 6lJTl§JJ o 
0V(O(lJ0VIJ(lJJd9Jj6rJB§}Jo n..lj(O(lJ!V)](Q)J,E6)Jd9J. 

@«m tf!RD @1a»1 ......................................... ,. ... 
. ............................ R+W+In+P 

6).!!..leJnl' @~(0)1 

6!2.J7) njj]6J!W(8]2/Jo ra6TBJ fJJ(O(f)6lJTl(IO 
(l}](]J(c!],E6)Jd9J. 

33. 6l@6 ffi)o@orsool@~ @.!2.leJru" WC002Jo 
(l))CTD 7 @lc006 rm 6. 

Q 

TC 

0 l 2 3 4 5 6 7 8 

20 30 38 44 49 53 59 6i 80 

n(J)) TFC, TVC, AFC, AVC, SAC, SlvfC 
n(J) rm 7 ru d9J J6/TJ J d9J 

6!2.Jl) TFC, TVC, TC n(J)rm7(1J oJ~ra «Jrr)rf}{}j6)(lJ!V) 

!1J@ (Tl) ~J B IJ J,E(j) 7 (lJ ra W
0

rEQ J d9J 

nvl) SAC, SMC ri@rm}(lJ rwm721J~ 
6!2.J m.JJ 6lJT1 m3 (lJJ (lJ ra 7 ,E6) J d9J. 

ECONOMICS - 6/6 




